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NANYANG PRIMARY SCHOOL

END-OF-YEAR EXAMINATION
2023
PRIMARY 5

MATHEMATICS
PAPER 1
(BOOKLET A)

Total Duration for Booklets A and B: 1 hour
Additional matsrials: Optical Answer Sheet (OAS)

INSTRUCTIONS TO PUPILS

~1. Do not turn over this page until you are told to do so.
2, Follow all instructions carefully.
{ 3. Answer all questions.

5. The use of calculators is NOT ailowed.

i 4. Shade your answers in the Optical Answer Shest {OAS) provided.

Name: ' _ ( )

Class: Primary 5 { )
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Questions 1 to 10 carry 1 mark each, Questions 11 to 15 canry 2 marks each.
For each guestion, four options are given. One of them is the comrect answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer
Sheet. {20 marks)

4 in5.887, which digit is in the hundredths place?

n 5
2 6
3) 7
4 8

2 Which of the following is the same as 23 kg §2 g?

(1) 23.025kg
{2) 23.052kg
(3) 23.502kg

(4) 23520k

BP-558



Ming Xuan bought 42 oranges, 28 mangoes and 14 kiwis from a fruit
store. What was the ratio of the number of oranges to the number of

mangoes 1o the number of kiwis that he bought? - Express your answer
in its simplest form, '

() 2:3:1
@ 2:486
3 3:2:1
@) 6:4:2

A machine seals 120 fishball packets in 60 saconds. At this rate, how
many fishball packets can it seal in 30 minutes?

(1) 3600
(2) | 360
(3 60
4 40
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Arid had 240 stamps.

(n
(2)
E)
(4)

Thomas had $1200. He spent 35% of his‘money on food. How much
money did he spend on food?

20%

25’?’0

75%

80%

(1) $180
(2) $360
(3) $420

(4)

$780

He gave 60 stamps to his sister.
percentage of his stamps did Arul give to his sister?
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Identify the line parallel to line AB.

{1
{2)
(3)
@

cD
EF
GH
JK
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8 Find the area of the shaded triangle ABD.

(1) 42cm?
(2y 525 o
{3) 54cm?

(4) 84em?




9

in thefigure, how many of the six marked angles are more than 80°7?

(1) o
@ 2
(3 3
“4) 4
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The figure shows & solid made up of unit cubes,  How many unit
cubes are needed 1o make the sofld?

()
(2
(3
{4

10

12

15

17
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11 Arrange the following fractions from the smallest to the largest.

8 3 4
9’7’5
Smallest Largest

8 3 4
1) 32 3 4
“9 "7 ' 5
8 4 3
2 — - —
2 8 ''5 * 7
@ 2 4 B
7 5 ' 9
3 8 4
4y 3 2 s
@ 5. g ' 5




12

13

Find the average of the foliowing 5 numbers,

=] [2]

(1)
(2)
(3)
4

A factory produces 1505 kg
into 50 packs. How much does each pack of

(1)
2)
3
(4)

23
20
18

16

. 301 kg
31 kg
3001 kg

301 kg

18

16

of fiour a day. The flour is packed equally
flour weigh?
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15

2 2
At a funfalr, there were 270 paople. 3 ©f them were children. 5 of
the chlldren wars girls-and the rest were boys. How many boys were

there at the funfair?
{1.)_ 180

2y 182

{3}y 108

{(4) 72

A chef cooked some soup for 200 guests. Each guest was served
0.78 L ofthe soup. How much saup did the chef cook?

(N
2

3

(4)

1481
16.61
146 ¢

1561

10
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NANYANG PRIMARY SCHOOL

END-OF-YEAR EXAMINATION
2023

PRIMARY 5
MATHEMATICS
PAPER 1
(BOOKLET B)
Total Duration for Booklets A and B: 1 hour_

INSTRUCTIONS TO PUPHS

1. Do not tum over this page until you are told to do so.
2. Fallow all instructions carefully.

3. Answer all questions.

4. Write your answers in this booklet.

5. The use of calculators is NOT aflowed.

Name: ( )7

Class: Primary 5 { )

Booklet B

125 |

Plaa's’ei sigfi and retumn the exa_minatiqrt paper the next day. Any querigs

should be raised at the same time when returning paper.
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Questions 16 to 20 cary 1 mark each. Write your answers in the spaces
pravided. For questions which require units, give your answers In the units
stated. (5 marks)

46  Find the value of 198 +35+7-{(35+B8+4x2)

Ans:

47  Find the value of 5 + 8. Give your answerasa decimal.

Ans:

18  Whatis the missing number in the box?

]___]:5=24:4D




19 In the figure below, AOD and COF are straight lines. #BOC = 58",
ZDOE = 76", ZAQB=90", Find £FOE.

B

Ans: °

20 Measure and write down the size of #BAC.
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Questions 21 to 30 carry 2 marks each. Shaw your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (20 marks)

21 Inthe figure below, ABCD is a rhombus, BCE isa straight line and
ZDCE=134". Find ZABD.

A

Ans:

2 5
22 i : = x =
find the value of 3 x 3

Give your answer as @ fraction in the simplest form.

Ans:
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23  What s the volume of the cuboid shown below?

8em

5cm
23cm

Ans: om?
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24  The bar graph shows the group points scored by 3 groups.
What is the difference in the group polnts between the highest 8core and
the lowest score?

8C

70

60

50 ~

1l

Number 40

of :
Paints ' % PO LI
) b Tty ; A

30 = 1 R 3 L) i)
- . ! = r—————bliidi
> 5 77
20 - : —
h 3 3 {I—
e ; \
10 ¥ £ PR PeplET , 2 I
I by o *ﬁ ; S—
Bty A ’egn?,:.}; iy, 7 S S
0 ;‘* Y "$:g,:;i;s . AT ) S—

Group X Group Y Group Z

Ans:




25  Sophia paid $87.40 for 3 identical pencils end 7 identical markers, The
price of a marker is $1.20 more than the price of a pencil. Tim bought

10 such pencils. What was the amount of money he paid for 10 such
pencils?

Ans; §

26 The product of 2 numbers is 3069. The smalier numberis 8. Find the
larger number. Round the answer to the nearest hundred.

Ans:
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27  What is the price of the refrigerator after adding 8% GST?

$2800
{price before GST)

Ans: §




28 The figure shows & solid made up of 11 unit cubes.

Top View

* -
- . - »
L] -
-

(a) Draw the side view of the solid on the grid below.

Side View

(11

(b) Jun Wel painted the whole solid, inciuding the base, green. How
many of the 11 unit cubes had exactly three of their faces painted
green?

ms®) ]
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29  ABCD and EFGH are 2 identical rectangles. Find the total area of the
unshaded parts. -

Ans: __ em? -




30

The tabls below shows the height of 3 boys, Abel, Bernard and Carl.
Thelr heights are in whole numbers. They have an average height of
154 em.  Carl is taller than Bernard and Abel Is the shortest. Part of
the table is smeared with ink. What is the lowest possible height of

Cort?
Nars Helght (cm)
Abesi 146
—
Canl 1

End of Paper

10
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NANYANG PRIMARY SCHOOL

END-OF-YEAR EXAMINATION
2023

PRIMARY 5

MATHEMATICS
PAPER 2

Duration: 1 hour 30 minutes

INSTRUCTIONS TO PUPILS

1. Do not tum over this page until you are told to do so.
2. Follow all instructions carefully.

3. Answer all questions.

4. Write your answers in this booklet.

5. The-use of an approved calculator is allowed.

Name: - ( )

Class: Primary 5 ( )

Parent's Signature: _ Booklet A 126
Booklet B 125
Papegr 2 | 155
Total | 1100 |

| Please sign and return the examination paper the next day. Any queries |

should be raised at the same time when retuming paper.
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Questions 1 to 5 canry 2 marks each. Show your working clearly and write
your answaers in the spaces provided. For questions which require units, give-
your answers in the units stated. (10 marks)

1 Abdulbought 52 m of string. He used 1 3 mof itto fie a parcel and

4 _ _
0" of it to decorate a prement. How many metres of siring had he

left? Give your answer as a mixed number.

Ans: m

2 A jug contains 1 ; litres of apple juice. How many litres of apple juice
are there in 6 such jugs altogether? _

Ans: . i B
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The average mass of 5 chikdrenis 48 Xg. When Peter's mass is added,
{he average mass becomes 45 ko. What is Peter's mass?

Ans: kg

ACE is a triangle. Triangle ABF and tiangle FDE ara isosceles
triangles, Find the sum of ZBAF and ZFED.

A
B
52" F
C ) S £
Ans: »




Mei Yan has a piece of yellow ribbon and red ribbon of the same langth.
She then cuts the piace of yellow ribhon and red ribbon into shortar
pieces. if she gives a group of friends a shorter piece of yellow ribbon
of length 1.4 m each, she will have 0.6 m of the yeliow ribbon left. I she
gives the same group of friends a shorfer piece of red ribbon of length
1.8 m each, she will need an additlonal 2.2 m of the red ribbon. How
many friends does Mei Yan have in thig group?

Ans:
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For questions 6 to 17, show your working clearly and write your answels inthe
spaces provided. The number of marks available is shown in bracksts | Jat
ihe end of each question or pm’t—quesﬁon. {45 marks})

6 The tota cost of 2 identical files and 3 _idenﬁoai markers was §$15. The
total cost of 5 such files and & such markers was $34.80, What was the
cost of 1 such marker?

Ans: . I3}

BP-586




Team A played against Team B in a badminton match. 560 children
watched the badminton match.  70% of the children ware bays.

{(a) How many girls watched the badminton match?

Ans: (a) 1

(b} 42 of the girts supported Team B and the rest of the girls supporled
TeamA. What parcentage of the girts supported Team A?

Ang: (b) [
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8 A triangle ABC is drawn on a square grid inside 2 box.

- : .

L] - L] - Ll 4 - L4 L] L * + L]

- - - L] » - = - .

By joining dots on the grid with straight lines,

{a) draw a thombus with BC as one of the sides. The rhombus and
friangie ABC must not overiap. 1]

{b) draw parallelogram ACFG. The length of AB is twice the
length of AG. Triangle ABC must not overlap with
parailelogram ACFG. [2}
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9 Jason, Peter and Chris shared asumofmoneyintheratio5:9:2. The
difference between Peters share and Jason's share is $128, How
much more money did Peter havs than Chris?

Ans: __ e [31




10

The average mark for a class of students In a quiz is 74. The top 3
students scored 87, 85 and 100. When the top 3 students wers
axcludad in the calculation for the average, the average mark becomes
§2. How many studenis wers thare in the class?

Ans: 13 ..
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1
Ravi baked 2535 cookigs, 3 of them wers chacolate covkias, g of the

remaining cookles were vanilla coolies and the rest were strawberry
cookies,

(8) How many vaniia cookies did ke bake?

Ans: (a) —

{b) Ravi packed all the vanilia cookies into-large and small fins to sail.

~ He filled @ach farge tin with 30 cookies and each small fin with 42

cookies. All the tins were full and there were no cookies loft over.
What was the least number of tins used by Ravi?

Ans: (b) ___ - (2]
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‘ , 2
12 A rectanguiar tank measuring 18 cm by 14 cm by 15 emiis -é-ﬁﬂed with
water, Alf the watar is then poured into an empty cubical tank with sides

measuring 15 cm each.

7L ke it 15 om
Ea it i
ar L : : e
7 .. i / "n'
pr— 14 ¢m —
19 cm 15 cm
Rectangular Tank Cubical Tank

(@) Whatis the volume of waier in the rectangular tank at first?

Ans: (a) [

{b) How much more water has to be added so that the cubical tank is

4 .
E—ﬁﬂed with water? Give your answer in fitres.

Ans: (b} 13

10
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Keryn and Carol had anequal number of stickers at first, After Keryn
used 352 sticksrs and Carol used 84 stickars, Carol had 5 timas as many

stickers as Keryn.

(a) How many stickers did Keryn have left?

Ams: (&) 21

{b) How many stickars did sach girl have at first?

Ans: (b}

{2

1
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44 ABCDisasguare. AB= 32 cm, OG = GC and AF =FE and OE = EB.

32 om

A <+ ' i B
'F
E
__ 4

D G C

(a) Find the area of the triangle BDG.

Ans: () R
(b} Find the area of the shaded parts.
Ans: (b)Y . _ 3

12
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13 Apiece of tiangular paper is foldsd into a trapezium as shown in the
diagram below. ZABO =53", 2/DCO = 50" and £LADC = 127",

Y
<%

LY
”

hd
“u
“~
N/
‘—n~u&ﬁ—w-ﬂ~jﬁ—nﬂ‘-m“&“u
f‘.’
v

(8) Find £ACD.

Ans: {a) , {2l

(b} Find £BAD.

A )

13
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16 Thetable shows the parking charges at Value Shopping Mall,

. Parking Charges
fSam.todpm $1.20
Eor the first hour or part thereof
' : 1.
For every addiional 3 hour or partthereof $1.00
Afer 5 p.m. lill next moming @ a.m. $5.00 per eniry

(a) MrsWee parked her car from g.30am tof1.45am. How ruch did
she pay for her parking charges?

Ans: (a) (2]

(b} Mr Ong parked his car from 4,30 p.m. titt the next morning 9 am.
How much did he pay for his parking charges’?

Ans. () _ [

14
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(c) Each of the statement below is elther true, faise or not possible to
tell from the information given. For each statement, put a tick )
to indicate your answer.

Not
Statement True Falss possible
- o tall
Mr Lim paid $5
when he parked his
car from 8 p.m. till
next moming
8.45 am.

Mr Tan pald $1.20
when he parked his
car for 30 minutes,

Some cars entered
at & p.m. and exited
at 6.50 p.m. on the
same day. The
parking charges for
these cars were
$§7.20.

(2]

15




17  Bryan uses grey and white squares to form figures that follow a pattern

as shown below,
Figure Figure Figure
1 2 3

(a) The table shows the number of grey and white squares for the first
four figures. Complete the table for Figure &.

Figure Number | 1 1 2 3 4 5

Number of grey 2 5 8 13
squares
Number of

2 4 2

while squares B__ !

Total number of 4 9 16 25

squares

{1

{p) Find the number of white squares in Figure 8.

Ans: (b)) _ [2]

18
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{c} Find the lotal number of squares in Figure 48,

Ans: (c) _ 2]

End of Paper

17
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